103 &£ 9 ARE=E PMIBERER » BERREIEIE

B S04 9 B EEIEEFEEKCIEAIEE (PMI) B2ER  BERR
B EEIES 2 [8381E » I88ERIA Tk 2.1 B0 RE 53.3%

B NIEHEMEERE2RERI LA (81R50%) @ BHEDLSF[HM
IRBERYREEKEEHERES TR RIEERS

SEEPMIER S fEPmI HIBEERE2ER
70 - % 3H
60.6 \
97 REBRZXRE . .o
WSB DOERIEE ATIRREE
50 -
FREE it
30 | | | 2 4L A=
35 = 35 = SEIRE - R EEE
2013 F 20147F - IRBRYIRIEZEKAE

&t : PMIKIR 50% NRBISERREIRER » 1KIR 50% RIRHKHE
BRRR : BT - i -
1/2



R3K 6 &

IRRIEFRREE

B [RIR 6 BRzRMNN) BEIEHEEZRER  BREFRECERE 3

BRBiE » 18ZE B T 6.5 BB EZE 54.1%

B\ REXD  EERRVNEXRBARBERRIZRANT - HEREXID=

RBYS

R 6 BRARRAMGTIER

%
90 -

10

63
68.4

95

35 98 38
2013 & 2014TF
EROR - BHE - ik -

95

70.0 -

m S
50 - C - 50.0 -

30.0

55.0

SEHTIZIB S

58.7

B IR NN

FEI=

52.2

0% 501

o]

2

m9H

42.7

ANl

INKEFRLZARKBERARRAMRITIER

64.3

0 H it

51.2

0% o8

%

11

2/2



